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Chapter 8.3: Graph General

Rational Functions

f(x) —%M polynomials

the x-int are the real zeros of p(x)/b7

the vertical asymptotes are the real

zeros of q(x)\>LdHo .

the graph has at most one horizontal 9\
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determined but the degrees of p(x) and
q(X) C\l‘es‘ff'e = \’\\j\\q‘s* Q“‘P"\M(\*

if the degree of p(x)=m and q(x)=n
N patder

T (:
m<n - asymptote y=0

m=n - asymptote y=a/b leading terms

of p(x)/q(x)

m>n no asymptote, end behavior

Graph state domain and range
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A food manufacturer wants to find the most
efficient packaging for a can of soup with a
volume of 342 cubic centimeters. Find the
dimensions of the can that has this volume
and uses the least amount of material
possible.

Homework: Chapter 8.3 pg. 568
#'s 3-6,8,10,16,20,26,32
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